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Instructions:
1.

This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36

Answer ALL questions.
Write your answers on the answer sheet.
Write your Name, Class and Class Number on the answer sheet.

You may do your rough work in the blank space of this test booklet and there is
no need to rub it out after the test.

You can use a pencil or a black/blue ball pen to answer the questions.
The use of calculator is not allowed.
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Note:

Not all diagrams are drawn to scale.

Section (.Y (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.
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1. In the number 190 375, what is the
difference in value between ‘3’ and

697?
A 6
B. 897
C. 80700
D. 89700

1. £ 190375 @3+ » [3] 4= [9]
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A. 6

B. 897

C. 80700
D. 89700

2. Which of the following sets of
numbers has the L.C.M. that is 6
times their H.C.F.?

A. 18,24
B. 18,30
C. 4,12
D. 6,9

2. WM TFH—#e L.C.M. A€M
H.CF. & 6 1& ?

A. 1824
B. 1830
C. 412
D. 6°9

3. Among the multiples of 11, which
one is nearest to 135?

A. 130
B. 132
C. 136
D. 143

3. 1184 P o I — 18 &

135 72
A. 130
B. 132
C. 136
D. 143
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If S is divisible by 8 and T is
divisible by 4, which of the following
is always correct?

A. Sisdivisible by T.

B. S + Tis divisible by 12.
C. 6 X Tisdivisible by S.
D. S X Tis divisible by 16.

4. HaR ST GEIR  TTH 43R -
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S+ T T4k 12 &k o
6 X T T4 S EFk o
S X T T#k 16 %k o
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5.

Which of the following fractions has

"\ the largest value?

5. MFHR—AA e {E R ok ?

Hot £l
A A1
B. o B.
c. = c. =
D. 5 D. 5
6. x is a decimal between 0.8445 and 6. x & — 18 & 0.8445 F= (0.8452 X H

0.8452. Which of the following is
correct?

A. Xxis greater than 0.8524.
B. x1is greater than 0.8329.
C. x1is smaller than 0.7999.
D. xis smaller than 0.8425.

BB WUTR IR E AR A 2

x b 0.8524 X o
x b 0.8329 X o
x £ 0.7999 /A
X b 0.8425 /) o
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7 (17+3?)><23:‘7
A. 4%
B. 61e
C. 9y
D. 15
8. Mark is 1% m tall; Lily is 1% times 8. L& 1% m - F A 45T FHE DL
as tall as Mark; Cherrie’s height is % a9 1% & RAe ey g 5 =& F A 6
of Lily’s. How tall is Cherrie? 2 c RIHH ERE S
A. i—gm A %m
B. I%m B. l%m
C. 1gm C. lgm
D. I%m D. I%m

9. There are 3% kg of salt to be packed 9. HE 3% kg * fe B A % kg % & —
Forecest 38l Sy 2 e 2 2 )~ BE =T T
:Jd into bags of 3 kg each. At least how D& KoY EZImZ Y H AT AT

| TR

much more salt i1s needed so that all the

bags are filled to that same weight?

A %kg A %kg
B. %kg B %kg
C. 3rke C. 3yke
D. %kg D. %kg
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Section 0 (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

(AEB (40 %)
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31. Kelvin folds a net to form a cardboard

box without lid, as shown above.

(a) What is the area of the net? (Give
the answer only.)

[2 marks]

(b) Kelvin tries to put some cubes of

side 2 cm into the cardboard box

so formed. How many cubes can
he put in at most?

[4 marks]

(¢) Each cube weighs 14.5 g. Kelvin
puts the largest possible number
of cubes into the cardboard box.
What is the total weight of the
cubes in the cardboard box?
(Give the answer only.)

[2 marks]

8cm

6cm

10 cm

31, ZEABHREARERT —BE2Z
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(a) B G EHALE Y 2 (
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[2 2]

(b) £ ERXRe—2iF k2 cm
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HE—
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Answer Sheet ZRE#

Name
£ (English) ()
Class Class No.
MR IR
Total Marks
e

You only need to write down the letter preceding
(60 marks)  the selected answer. (2 marks each)

(GIEB (605) ThEREEFRESENNALTE - (§H25)
1. 6. 11. 16. 21. 26.
2. 7. 12, 17, 2. 27,
3. 8. 13. 18. 23. 28.
4. 9. 14. 19. 24. 29.
5. 10. 15. 20. 25. 30.
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. Working steps must be shown in answering questions Teacher's use only
Section 0 (40 marks) in this section unless specified otherwise. A
[AER (40 5) BisRIEms - EEAABIES - A5 HHEDE -
Marks
(=Fa)
31 (a).
The area of the net is (Give your answer with a unit)
18 48 AR 89 AR o (XEMBEFEM)
2
31 (b).
4
31 (¢).
The total weight 1s
kT g o
2
32 (a).
2
32 (b). . .
The perimeter of the above figure is
(Give your answer with a unit)
& R A °
(XF/AH L% 4)
2
Go On To Next Page
BTEEE
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D FEM—Eu%E; ﬁk%m 4% %ml AN X EE PR
T4 E I S B 2 [2018 F 2o12¢ 2011 £F ~ 2o1o¢~2009$~2oo7ﬁ§&"1
WETER/RA2ELY - /)
A. 9 B. 10 B I\ 7 00 [ B 2D B
C. 11 D 12 b /\ U?ﬁ@eggmg—ﬁ
@ HERIHERL324 LHEOERZHESST BERL-FBEZTL
EAAAT S Y ? [2017 -~ 2015 5 ~ 2014 £~ 2012 FER)
A. $26.7 B. $38.1 C. $59.1 D. $70.5
J

@ K*%/S/'£9}6462kgé’j ﬁ/\ﬁ* /Rﬁ 0.4 kgﬂiﬁ , %'ﬂ]‘i&%’i%‘%éy\ﬁk

%
YR 2EBETRET S Y ? [20155F 2014 %~ 2013 FER)
A. 116 & » £ TF 0.2 kg B. 115 % » £ TF 0.2 kg
C. 1154 » #TF 0.5 kg D. 115 % » £ F 2 kg
. 1 5 . . .
@ FTHhA—CBER ML TEP— 0 L —z“aéé\iﬂﬂ - L EE Rt
RS R DE %M)%ﬁ‘%éﬁ& \1&7 [2012 &+ 2011 £ ~ 2008 FRER!]
1 1 2 5
A. . B. 3 C. 3 D. .
— /\57 ?
® &2 :J[ﬂ%iﬂl? Y18 [0.04] & mEE
[2014$ 2008 EFEEE:] %}E _\%(’(K/%/J\%Z %{EDT—%
A. 0.7 B. 7 C. 60 D. 70

® SFAMF AFHERES0 AW @EEAES Y ? (2012 F58E)
A. $840 B. $870 C. $900 D. $930

=38

6 A2 5 v B 5 R B R4 350 18 & BEEY

EiE—FEERERS VM2 EFEBI07 117
12PE=BA -

A. 31 500 B. 31 850 C. 32200 D. 32 550
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A. 216 B. 225
C. 234 D. 243
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2018 8 16 4
2017 8 18 6
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2013 8 16 6
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